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ROUGH WORK (T% TH)



PART | (3T 1)

QO001: Which of the following districts is not covered by the river Banganga ?

(A) Jaipur (B) Ajmer (C) Dausa (D) Bharatpur
Q001: fAfaf@d & @ Fiad et F & FUPRT 7 F87 Jgdr 872
(A) ST (B) 3519k (C) gtar (D) AR

Q002: ‘TE-Rf#T' & fAT 3N &1 3ugeFa FAESS 2ec gram -
(A) Barred (B) Bearer (C) Barter (D) Barrier

QO03: If kilometre is to distance than joule is to

(A) Height (B) Weight (C) Energy (D) Volume
Q003: Tfg fhetefieX gt & T § ar S & faT g
(A) T8 (B) aoter (C) Zarm (D) 3mId=t

QO004: Blood pressure is measured by an instrument called:

(A) Barometer (B) Manometer (C) Sphygmomanometer (D) Anemometer
QO04: T & Teh 3UHLUT GaRT AT STl & S8 gl Sl &
(A) SR#reT (B) #AAr#IX (C) RwmaaAAH T (D) el e

QO005: Rajputana Vishwavidyalaya is now know as .
(A) Rajasthan Vishwavidyalaya (B) Scindia Vishwavidyalaya

(C) Bikaner Vishwavidyalaya (D) Kota Vishwavidyalaya
QO05: ISl faRafaearer I 3 & A I ST S g

(A) TorEuTe faeafacrery (B) ffrar favafagzrer
(C) ey faRafacarera (D) @rer favafacarery

QO06: An article is sold for X 150. Sales tax accounts for 1/5 of this and profit one third of the remainder. What
was the cost price of the article?

(A) X80 (B)X 76 (C) %90 (D)X 72

QO06: Tsh aF T X 150 & o STl &1 fIshr &Y &hT 1/5 $19T giar & 3R AW &1 ve fgrs omer giam g1 awq 1
H Hed FAT U?

(A)Z 80 (B)X 76 (C) 90 (D)X 72

QO007: We could barely get any information at the airport. people seemed to have idea
about flights.

(A) any, no (B) many, any (C) a lot of, any (D) only a few, some

QO008: Diameter of a jar cylindrical in shape is increased by 25%. By what percentage must the height be
decreased so that there is no change in its volume?

(A) 36% (B) 10% (C) 50% (D) 25%

QO008: SelelTehR SN & AH F 25% T Jefr &1 STl &1 3215 A fohaial wfera Hr ot i S =fge arfes s
T & #S qRade & @

(A) 36% (B) 10% (C) 50% (D) 25%

Page 1 of 21 Internal Code: AC2 BOOKLET TYPE: P



Q009: Ranthambore National Park is bounded by the river to the North and river to the south

(A) Parvati, Banas (B) Luni, Ghaggar (C) Gambhir, Luni (D) Banas, Chambal
QO09: IWTHHR TSI 3T 3R H ey 3R gfaror & G a fRr g
(A) Traeh, g1 (B) o=, BT (C) TR, =t (D) =T, TEe

Q010: The elements in a group have the same:

(A) Atomic number (B) Valency

(C) Atomic mass (D) Electronic configuration

Q010: Ush HHg & dcdl H FAW &

(A) SRATI] HEar (B) EOSTahaT (C) TRATT] HR (D) EREHIGEIRECIE:]

QO11: "HATT ersel T JuUsh el & T TeIEat &1 ST TR STrer §1" Red T4 &1 gfid Hife|
(A) 3rcafam (B) yuffars (C) TeeTEah (D) 3re5faRTe

QO012: Find the odd number out from 396, 462, 572, 427, 671, 693.

(A) 462 (B) 671 (C) 572 (D) 427
Q012: 396, 462, 572,427,671, 693 # ¥ AvH F&am ad Hifeiw|
(A) 462 (B) 671 (C) 572 (D) 427

Q013: Which among the following accounts of ancient Rajasthan provided an information upon land revenue
records?

(A) Patta Bahi (B) Adsatta (C) Khareeta Bahi (D) Hukumatri Bahi
Q013: yrefieT o & fArAfaf@d # @ fFe @ 7 -Iorea 3ifFeal i Sea 3uaey &S a1 dAr?
(A) TeeT S (B) TsHEeT (C) @dar =& (D) gpaaT e
Q014: Go off at a tangent means .

(A) Forget things in between (B) Go on at great length

(C) Change the subject immediately (D) Become boisterous

QO15: 'gal’' & TIY H Hil-ar1 fawea 3T =181 § -
(A) 'HTaaraes HAT Qsg T GAT T&d Uehdded & giaT 2l
(B) "1’ ereq &1 YAWT Hed Tehadsl &7 A Il gl

(C) 'TefgaTdT HAT' ASE F TANT Hed Thadd H g gl
(D)'w‘ammmmagaaaa;wﬁm%‘l

QO016: In the ABO system of blood groups, if both antigens are present but no antibody, the blood group of the
individual would be:

(A)O (B) AB (C)A (D)B
QO016: T WHg! &I ABO Yutrell #, afe alt wfdsre Alsg & et #1$ wfavel &0 8, o afed &1 t&a @afg gom:
(A) O (B) AB (C) A (D) B

Q017: Which of the following has largest solubility in water?

(A) Ca(OH), (B) Sr (OH). (C) Mg(OH), (D) Ba(OH);
Q017: wfaf@aa & ¥ fradhr s & faeaar goa 31fe+ §?
(A) Ca(OH), (B) Sr (OH). (C) Mg(OH), (D) Ba(OH);
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Q018: Which of the following is used as a high speed network backbone media?

(A) Fiber Optic Cable (B) Coaxial Cable

(C) Unshielded Twisted Pair Cable (D) Shielded Twisted Pair Cable
QO18: faFT 7 & foradhr 3UAIT g5 TS sica® IMYUR HASAT & & H FAT 1T 82

(A) wTssR 3iifCeah dhael (B) gATET ar

(C) fear IRRfaTd ST WE SNET hael (D) afRf&T s @W§ NS hael

Q019: What is the feature called in excel when we get data from a different cell?

(A) Updating (B) Referencing (C) Functioning (D) Accessing
Q019: T 37eTeT T T SIET WCd el & B T TFAT H FAT gl Sl 72
(A) 3masfeaT (B) YAIfET (C) wererfaiar (D) T T

Q020: When you use Save As Web Page, in which format the presentation is turned into?

(A) A framed HTML page (B) An animated gif image

(C) A set of web pages in a folder (D) A video

Q020: 59 3T a9 9T & &I H Tgol & IUANT I g, Al FEIId (Yoieers) fohd 9red & dger Srehr 87
(A) T hHEgFd T & TH T 56 (B) T& TiHes S3msTsw ofd

(C) T Wiest H A9 Yt HI Teh AT (D) T difsar

QO021: Four bells ring at an interval of 6, 8, 12 and 18 seconds. They ring together at 12 o’clock. After how many
seconds will they ring together again?

(A) 48 (B) 84 (C) 60 (D) 72

Q021: IR ©fedr 6, 8, 12 3 18 AHs & eIl W Il 21 I 12 997 U A Foich! ¢l fobcdet Wohs & a1 9 X &
T ATYT Foidl?

(A) 48 (B) 84 (C) 60 (D) 72

Q022: Run : Sprint :: Push : .
(A) Pull (B) Yank (C) Draw (D) Shove

Q023: 12 buckets of water fill a tank when the capacity of each bucket is 13.5 liters. How many buckets of water
will be needed to fill the same tank, if the capacity of each bucket is 9 liters?

(A) 16 (B) 8 (C) 18 (D) 15

Q023: T &&F 12 STl Uil | AT § 519 Ycdeh aTec! $I &THAAT 13.5 @i glal gl 38 & & oA & v frdst
STeer greAl T 3aRThdr gl AT Tcdsh aredl i &TAdr 9 oireY g1?

(A) 16 (B) 8 (C) 18 (D) 15

Q024: In an organised society no individual or nation can plough a lonely furrow. Which of the following
statement best fits the meaning of the underlined idiom?

(A) Remain unaffected (B) Do without the help of others

(C) Remain non aligned (D) Survive in Isolation

Q025: What is the boundary line between India and Pakistan called ?

(A) Adam's Bridge (B) Sir Creek Line (C) Radcliffe Line (D) McMahon Line
Q025: R 3R WfFea & & & TAT 3@ T FAT Fgd 82
(A) veFg foer (B) & hreh ¥@r (C) =fFaw @r (D) HepeAtgaT T@r
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Q026: How many bricks measuring 25 cm x 11.25 cm x 6 cm will be needed to build a wall 8 m x 6 m x 22.5 cm?

(A) 7200 (B) 6000 (C) 6400 (D) 5600
Q026: 8 HIeT x 6 e x 22.5 A Fr IR Faret F AT 25 A x 11.25 A x 6 AFAY AT Fr fFce i
3TaLThAr grafr?

(A) 7200 (B) 6000 (C) 6400 (D) 5600

Q027: The term gigabyte refers to:

(A) 1024 megabytes (B) 1024 kilobytes (C) 1024 bytes (D) 1024 gigabyte
Q027: 3femerse 3T & §:

(A) 1024 A3TETET (B) 1024 fhaltaTse (C) 1024 srscH (D) 1024 sfamaTSe
Q028: How many tiger reserves are there in Rajasthan as of Jan 20217

(A) Six (B) One (C) Eleven (D) Three

Q028: STIadr 2021 dsh TSRATH H fohde er2IR Rera g7

(A) B8 (B) = (C) IR (D) et

Q029: Which one of the following graphically represents the detailed steps required to solve a program (also
called structured programming technique)?

(A) Object-oriented programming (B) Pseudocode

(C) Flowchart (D) Top-down design

Q029: fAFIfaf@d # ¥ FleT T NI 1 g A & AT raeys AEgd ol & @it Har ¢ (7 wRa
QHITTHIT deheiien 3T el ST )7
(A) a&q 3@ HHT (B) T8I (C) walraTe (D) 3R & =g f3amssT

Q030: Which PowerPoint feature allows the user to create a simple presentation without having to spend too
much time on it?

(A) AutoContent Wizard (B) Chart Wizard (C) Animation (D) Color Schemes

QO30: HieT T JraRdise fAAVAT IUAThT HI S5 3OF THT T T 4T veh FUROT G sfled 1 regAfcd
& 87

(A) 3iTerhee faers (B) are faems (C) Tl (D) T T

Q031: Which of the following Excel charts represents only one value for each variable?

(A) Line (B) Bar (C) Pie (D) Column
Q031: faf@a & & +ia T Tadd T T ds W & T had T A F fafAfeea axar &2
(A) efrget (B) SR (C) ur$ (D) Eci87 (Frera)

Q032: A4 cm cube is cutinto 1 cm cubes. The total surface area of all the small cubes is

(A) 246 square cm (B) 24 square cm (C) 384 square cm (D) 96 square cm
Q032: Teh 4 WY °eT I 1 WA Tl & FIeT ST & T BIC GeAl AT Pl TSI &7 &

(A) 246 Tt T (B) 24 a1 @#Y (C) 384 a1 =Y (D) 96 Tt A+
Q033: In Jodhpur district is located.

(A) Central Pollution Control Board (B) Central Ground Water Board

(C) Central Institute for Arid Horticulture (D) Central Arid Zone Research Institute
Q033: Siqe forer # fera g

(A) FEr yguor faz=or g (B) HET #fater a1

(C) harT s STTATeAT HEATH (D) FErT Yo 81T Tl HEUTeT
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Q034: The Bagore ki Haveli at Udaipur was built during 1751-1778. Who built this imposing structure?

(A) Shri Nath singh (B) Shri Amarchand Badwa

(C) Maharana Ari Singh (D) Maharana Pratap Singh Il

Q034: 3¢ #H SR & gdell 1751-1778 & N1l a1$ a1 1| $H $7eg EIAT 1 FATOT fohger Hram ar?
(A) 8 a1 fag (B) &t 3#RTe Sgar

(C) wewoT 3R i (D) HERIOM Y9 &g efacha

Q035: Which of the following ecological pyramids is generally inverted?

(A) Pyramid of biomass in a forest (B) Pyramid of energy

(C) Pyramid of biomass in a sea (D) Pyramid of numbers in grassland
Q035: farfaf@a # & =la ar aiFufas R™ufas aeaa: 3eer g2

(A) SITer F SRHAE & A (B) 3T &1 Rifas

(C) &og # ararerg & Aufas (D) ar® & HerT & TEImst w1 AfAs

Q036: A Computer cannot do anything without .
(A) Printer (B) Programs (C) Sound (D) Devices

Q036: Teh HYeX & o1 oo 76T X T &
(A) F®iex (B) grarmaT (C) eafer (D) 39ehoT

QO037: The term apiculture refers to:

(A) animal keeping (B) Tissue culture (C) pisciculture (D) bee-keeping
Q037: tdiehear 3fd & &
(A) Te[aTeret (B) I TaEeT (C) AT dTelel (D) AYHSFET dTele

Q038: Diameter of a circle is 3.5 cm. What is the circumference of the circle in cm?

(A) 45.2 (B) 38.5 (C) 11 (D) 22
Q038: Teh el &I <A 3.5 W1 §1 g i gRfey qefr #F a7 @2
(A) 45.2 (B) 38.5 (C) 11 (D) 22

Q039: The greatest 4-digit number which is divisible by 15, 25, 40 and 75 is:

(A) 9600 (B) 9400 (C) 9800 (D) 9000
Q039: 4 37T $T FIY T FEAT A 15, 25,40 3R 758 RFwrew ¥ 9 &
(A) 9600 (B) 9400 (C) 9800 (D) 9000

Q040: How many times the minute and hour hands of a clock are at right angle in a day?

(A) 22 (B) 24 (C) 48 (D) 44
QO40: 8l T fAeTe 3R e & AT U &7 H fhdell I FHHIOT 9T el §7?
(A) 22 (B) 24 (C) 48 (D) 44

Q041: A memorandum (memo) is considered a brief form of written communication for:
(A) external use (B) internal use (C) legal use (D) formal use
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Q042: Tushar ranked 9th from the top and 38th from the bottom in the class. How many students are there in the
class?

(A) 46 (B) 48 (C) 47 (D) 45
Q042: qYR & # IR & #ld AR o & 384 Tl W g1 el & v o1 §7?
(A) 46 (B) 48 (C) 47 (D) 45

Q043: Which Fort in Rajasthan has the longest Wall in India and second longest in the World?

(A) Jaisalmer Fort (B) Kumbalgarh Fort (C) Chittor Fort (D) Ranthambore Fort
QO043: TSTEUTe & fohd favel 1 ElaR $IRA & Gad ofel AR faea & gl ded el &7
(A) ST T fohelm (B) Shererate fehe (C) FRrls &1 forarr (D) IOTTHR &1 el

Q044: Sfaish' erse; 7 hAM: Hel A T YcdT § -
(A)E + fas (B)&fr + & (C) faeT + 5 (D) & + 3

QO045: In which pH range does our body work to survive in the atmosphere?

(A)7.0t0 7.8 (B)5.5t0 8.5 (C)23t07.0 (D) 7.5t0 12.5
QO045: argHse # Sifad @l & oI gART WR fha pH Aol & R e 82
(A)7.0t0 7.8 (B)5.5t08.5 (C)23t07.0 (D)7.5t012.5

QO046: Three girls start jogging from the same point on a circular track and each one completes one round in 24
seconds, 36 seconds and 48 seconds respectively. After how much time will they meet again at any point?
(A) 3 minutes 36 seconds  (B) 4 minutes 12 seconds  (C) 2 minutes 20 seconds (D) 2 minutes 24 seconds

Q046: AT wTsfoham gk ¢oh W Tk & foig & alsar Y& kel § 3R Jcdeh HaAr: 24 s, 36 Whs N 48 qhs
Teh TFR QT A &1 I el G a1 O el foig ox faeist?
(A) 3 feTe 36 93 (B) 4 fete 12 s (C) 2 Asie 20 dhs (D) 2 fAsTe 24 @3

QO047: If all the numbers which are one more then preceding number are removed from the series
14341561489173. What will be the eighth number from the right?

(A) 4 (B)5 (€)1 (D)6

QO047: afe H@err 14341561489173 H & 37 |l 37hi 1 Sl qdaci 3 & 1ATer 81 1 gel f&ar orem g, aF e &
3TSaT 3k AT gem?

(A) 4 (B)5 (€)1 (D)6

Q048: A man is facing south. He turns 135 degrees in the anticlockwise direction and then 180 degrees in the
clockwise direction. Which direction is he facing now?
(A) Northwest (B) Northeast (C) Southeast (D) Southwest

Q048: T =afdd &1 H@ afaior &1 3R g1 a6 arArad feem # 135 f3ah Hsar § 3 B aféomad feem # 180 f2ai
Hsol 81 3 dg foha feem &1 3K 3074 §?
(A) 3R 9iRgA (B) g=ITeT SHI0T (C) gfarorqa (D) gfeyor gfea#H

Q049: A cube of length 1 cm is taken out from a cube of length 8 cm. The weight of the remaining portion would
be  of the weight of the original cube.

(A) 8/9 (B) 511/512 (C) 63/64 (D) 7/8

QO049: 8 YT §[aTr aTel Tl H & 1 WY ST ATl Ueh Eol TohTell ST §1 AT 19T T R Hel Bl & AR HT __
gram|

(A) 8/9 (B) 511/512 (C) 63/64 (D) 7/8
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QO050: The Udaipur Solar Observatory is located on which lake?

(A) Lake Mansagar (B) Lake Badi (C) Lake Ana Sagar (D) Lake Fateh Sagar
Q050: 36T AN aerrel fond il W FEud 82
(A) ATETR e (B) o' &3r (C) 3/ EPR 3T (D) Balg PR e

QO051: In how many ways a committee consisting of five men and six women be formed from 8 men and 10
women?

(A) 11760 (B) 86400 (C) 266 (D) 5040
QO51: 8 g8 AR 10 AfRem & & i e AR oF Afgen3it H v FAY Hdr TR & 1S ST Fehell &2
(A) 11760 (B) 86400 (C) 266 (D) 5040

QO052: Find the next number in the series 4, 16, 36, 64, 100, 144,

(A) 184 (B) 180 (C) 196 (D) 150
QO52: 5@eTl 4, 16, 36, 64, 100, 144, F 30T §EAT A1 AT
(A) 184 (B) 180 (C) 196 (D) 150

Q053: Morphine (sedative and pain killer) is obtained from .

(A) Poppy plant (B) Datura (C) Coca plant (D) Cannabis plant
QO53: Afthed (2mH® 3R g¢ FaR®) ¥ greg fRar ST g
(A) TEEE & die (B) &r¥ (C) Frar & dier (D) &ier & Gl

QO054: Which feature starts a new line in a document whenever a sentence reaches the right margin?

(A) New Line (B) Text Align (C) Text Line (D) Text Wrapping
QO54: S #ff #1$ aTeF a¢ Hifolel W Tgacl § af Hid W AT el Farast # e a1 gl YE FLA 82
(A) 715 dfFa (B) coee wif@a (C) tFee wmSaT (D) taFEe XTeT

QO55: Pointing to a woman, Sumit said, she is the daughter of the only child of my grandmother. How is the
woman related to Sumit?

(A) Niece (B) Aunt (C) Cousin (D) Sister

QO55: Tsh Afgell I 3R SURT FA §T FIA ¥ gl, T AY & HY Shellcl Tl H 9 &1 Afgen AT & 4
T 22

(A) #TSiY (B) Tl (C) = & (D) s&eT

QO056: What does IP stand for in the terms of Internet?

(A) Internet Processor (B) Internet Procedure (C) Internet Protocol (D) Internet Provider
QO056: 31T & TG H ST &7 FaT 7 §?
(A) et TAET (B) 3cx=ie fshar (OE=GEIFEIC] (D) geX=ic werar

QO057: A car company sold total 150 cars in a special six days sale. Each day, after first day, the company sold 6
more cars than the previous day. How many cars were sold on the 6th day?

(A) 50 (B) 60 (C) 35 (D) 40

QO57: Teh R el o Tg el &1 faAw f3shr & For 150 FR S| ggol R & e, s T Huah o Rl foet
1 o ¥ 6 3170 F AT o5 R R X Ay awE?

(A) 50 (B) 60 (C) 35 (D) 40
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Q058: When an aqueous solution of silver nitrate is electrolyzed between platinum electrodes, the substances
liberated at anode and cathode are:

(A) Hydrogen is liberated at cathode and oxygen is liberated at anode.

(B) Silver is deposited at cathode and platinum is dissolved in electrolyte.

(C) Silver is deposited at cathode and oxygen is liberated at anode.

(D) Silver is deposited at cathode and hydrogen is liberated at anode.

Q058: 59 leaR AS¢e & el fderdel o1 TolfeaTd goieels & drd faegd favavor (goerelensst) f&har Sirdr g, o
TEs 3R HUs W FFA g drel gerd g

(A) HUTs W gTSSISlT HF gial & 3R Tals o 3iferiisiel ek g B

(B) @iEr &aUts W AT gl § AR woifeats fega 3uey (sowcianse) # gd S gl

(C) =Y &2t WX AT gl § 3R 3iferelisie Tals W HaFa gl &

(D) =&Y &2s W STAT Bl § 3§30l ToAls W) Heobdl glell gl

Q059: In an electric motor, the direction of current in the coil changes once in each .
(A) One fourth rotation (B) Half rotation (C) One rotation (D) Two rotations

QO059: T Zalfdea AT H, disel H e I T T A+ H TP SR ¢ Al gl
(A) weh =terg AT (B) 3mer gATE (C) v gt (D) ar gATT

QO60: faF1faifld # & fohq amerdr # 'HC el &1 1T AT ol gTaR T 3T TATT g3 &2
(A) & Fffeoll &Y 3 aTel T AT ATA el ¢

(B) Ta¥FE WX UGS Ik HI 3 &Il T AT HIe[H &l T

(C) 51§ 31Ul HATS A TR TN I g I &l T {1 AT glam|

(D) ISR ST 3TTeT-8TeT WlGe! WX 8T 37C &TeT &l HIG HIH Blam|

PART Il (%171 11)
QO061: Which is appropriate basis for material handling charges apportionment?
(A) Material in stock (B) Purchase of material (C) Material allocated (D) Material consumed
QO61: AT HaTelel YHRT & fasielel & AT 3ugerd MaR @it @1 8?
(A) T & Fresft (B) Tresfy dr @lig (C) 3mafea vl (D) @reaft fr @ud

QO062: In case the company is closed then which cost is still incurred by the company?

(A) Disputed cost (B) Sunk Cost (C) Shutdown cost (D) Opportunity cost
Q062: G YN i 81 AT & a6 HUH garT 37ef off pleT & et ggd & S &
(A) Taarfea o (B) g oI (C) eresT3a T (D) 3rEER oETd

Q063: Which is not a component of The Goods and Service Tax Act?

(A) Central GST (B) State GST (C) Integrated GST (D) Inter-state GST
QO063: FT ATl AR Aar X fAATA &1 v gead G &?
(A) g Shroaer (B) s Shwaer (C) wehrad Sfrewer (D) RIS Shroger

QO064: In case if a Public Limited Company wants to apply for incorporation of the company, how much minimum
number of members are required?

(A) 7 (B) 25 (©)10 (D) 50

Q064: afe #s ufsarsr fafAes &ush, fAerds & AT mdes e A §, af gTad fhast Feedl i 3marashdr
g1

(A) 7 (B) 25 ()10 (D) 50
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QO065: What is the threshold limit for aggregate contractor payment under section 194 C for financial Year 2021-
22?

(A) Rs. 150,000 (B) Rs. 50,000 (C) Rs. 100,000 (D) Rs. 75,000
QO65: faiiar ¥ 2021-22 & AT URT 194 &1 & T ol ShaR ITcll=T HT AT 77 872
(A)%. 150,000 (B) . 50,000 (C) ®. 100,000 (D) ®. 75,000

QO66: If a company changes its registered office address from one state to another state, it is required to obtain
prior permission from:

(A) District magistrate (B) State government

(C) Central government (D) Registrar of companies

QO66: TR FE FA I ToNepeT FRATTT F T T ToT ¥ G T F agee ¥, 30 G I e gl
(A) e afoeee @ (B) I THR &

(C) FrelT THR A (D) IR 3TF FusireT A

QO067: Cash flow statement is known as which type of planning?

(A) Medium range financial planning (B) Long range financial planning

(C) Short range financial planning (D) Very long range financial planning
Q067: Vehs YaTg faaror &I fhd YR &I ARSI & &9 H ST SITar 87

(A) Fregs 3ate &1 fadr e (B) ot 31afer &1 fadg et

(C) orér 3t & fodia AseT (D)ag?rsiﬁ’rman‘rﬁ?ﬁ?:rﬁ'a’la?r

Q068: Under which schedule and parts, balance sheet format and profit and loss accounts format, are provided
under Companies Act, 2013?

(A) Schedule 111, Part 11 & Il (B) Schedule VI, Part 1l & lI

(C) Schedule Ill, Part | & I (D) Schedule VI, Part | & I

QO68: &u=r Jfaferae, 2013 & dea fhd 3ggEr 3R omer &, S efie 1 ey 3R @ 3R gIfer @rat &1 9w
gere fav aw g7

(A) e 11, maT 11 3R 1 (B) 37t VI, #1maT 11 3R 111
(C) 3T I, 87rer | R I (D) 37T VI, #1reT | 3R I

QO069: The Finance Act, 2020 enacts that on the income tax on domestic company, surcharge 12% will be
applicable where total income exceeds .
(A) Rs. 1 Crore (B) Rs.25 Crores (C) Rs.10 Crores (D) Rs. 5 Crores

Q069: far 3iftrfeiza, 2020 FMRATAFTAT FIAT § o B HUAT W IRFR W, 12% fAHR 9] oM ST6T el 3T
T 31 gt
(A)%. 1303 (B) %. 25 5 (C)%. 10F3 (D)%. 5

Q070: The Goods and Services Tax doesn't include which of the following taxes?

(A) Central Excise (B) Direct Tax (C) Service Tax (D) Value Added Tax
QO70: ATer 3R ¥aT I H A & FF A g 82
(A) T U Yoh (B) IcgeT T (C) Tar & (D) Feor aftia &

QO071: Which project on capital budgeting factor is most preferred?

(A) Normal payback period (B) High payback period

(C) Lower payback period (D) Longer payback period

Q071: Ffea saiféer haex W @i W RIS FI7 FAMETr 96 FHr A §?

(A) AT STl 3@t (B) 3T §fITCTT 37y (C) & §faTcTeT 37afey (D) oiell 8gaTcTreT 3rafer
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Q072: Under section 80 U of Income Tax Act, in case of severe disability, deduction for person suffering from
physical disability is:

(A) Rs. 1,25,000 (B) Rs. 100,000 (C) Rs. 1,50,000 (D) Rs. 75,000

Q072: 3 ITRATH T 4RT 80 F & ded, RN eTHAT § NiSd eafdhd & v 8 3eTHar & A H
Faldr &

(A)®. 1,25,000 (B) ®. 100,000 (C)®. 1,50,000 (D) %. 75,000

QO073: In Capital Budgeting, generation of positive net value means that project is earning higher than the

(A) Internal rate of return (B) Annual rate of return

(C) Required rate of return (D) Present value of index

QO073: YoiTd FoTc H, FhRIcHAS Y Hed & Foial &1 3 § & aRrsren T 31f0F AT FT WY B
(A) 3TaRe gfadel &3 (B) Reet &1 af¥& ax

(C) Reet &1 3maea® &< (D) gahich & ddAT Hed

QO074: Which cost is not considered as indirect labour cost?

(A) Idle time (B) Guest food expenses

(C) Fringe benefits (D) Overtime expense

QO074: frE I &1 IUCTET HH MeTd gl AT ST 872

(A) 9FR T AT (B) 31fafXr siereT o (C) 3regwalt omst (D) 3aRersq I

QO075: Marginal cost is known as:

(A) Cost of sales - variable overhead (B) Production cost + profit
(C) Prime cost + variable overhead (D) Total cost + profit
QO75: HIHT &MeTd & & H ST ST &

(A) fSshr T @Rt - 9RATHT 3aes (B) 3cUTEe ST + FHATH
(C) 7T wmaTd + aREd T 3ags (D) FeT AT + FATH

QO076: To constitute the Corporate Social Responsibility Committee under the Companies Act, 2013, the Board of
the committee should have at least

(A) One independent director (B) 2/3 strength of independent directors of the board
(C) Two independent directors (D) Three independent directors

Q076: &ueAT 31T, 2013 & ded HURT ATATGS 3G Acd TATT HT ITSA A & o7, TATT & NS A HA 4
A gier =gl

(A) T TadT s (B) &€ & FTadd foeerent $r d@Ear & ar s

(C) ar Tad7 fagers (D) e FaaT faces

QO077: Within how many days from the date of AGM held, a company has to file the copy of the financial
statements duly adopted at the annual general meeting with the registrar?

(A) 3 months (B) 30 days (C) 60 days (D) 120 days

Q077: U &Y FI dTi¥eh 3 doh & Aftad 39as 315 fodfr awont $r gfa oer &1 vt 3mafaa g &
TRE & fhder fear & iR aif@ar & gidr 872

(A) 37 (B) 30 feet (C) 60 fe=t (D) 120 f&=t
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QO078: Salary is being paid to the foreman in charge of the packing department. What should be the valid
classification of such expense?

(A) Direct department cost (B) Service departmental cost

(C) Prime cost (D) Direct product cost

Q078: ST AT & THRT BRAT AT Il AT ST T &1 TF @I & Y Fefinor a7 giar arfeu?
(A) JcTeT TaeTmeT amerd (B) TaT e @reTd

(C) Fer @maTT (D) IcTeT 3cure, e

Q079: Which term is not associated with inventory?

(A) Machines (B) Raw material (C) wip (D) Finished goods
QO079: HIA-T Usg TEI-FA & AT e &2
(A) 7=t (B) seam ATl (C) fag (D) TR AT

Q080: As per Income Tax Act, loss under the head 'profit and gains of business and profession' can be carried
forward, succeeding the year in which is loss is incurred, for how many years?

(A) 7 years (B) 5 years (C) 10 years (D) 8 years

QO80: 3T ITATATH & IeTaR, ‘eTaary 3R AR § @7 AR 3rfvemer MY & Ted, 5w a¥ g1far g% &, 39 a8
fohder aut & foT g1fey & 3meY ST S Thar &7

(A) 7 ¥ (B) 5 @y (C) 10 @y (D) 8 a¥

Q081: Indian Accounting Standard AS 116 is effective from:

(A) 1st April 2019 (B) 31st March 2020 (C) 31st March 2019 (D) 1st April 2020
QO081: AR «I@T Alieh T TH 116 &r gamar fafyr g
(A) 1 319 2019 (B) 31 AT 2020 (C) 31 AT 2019 (D) 1 3t¥er 2020

Q082: Current Ratio is also known as .
(A) Acid test ratio (B) Quick test ratio (C) Liquidity ratio (D) Working capital ratio

Q082: T IIAA T & & H $1 ST ST
(A) FHIET 3regare (B) Tl TRY&TOT 3fedTeT (C) TR &l 3HeTured (D) shrefier Goft 3rearet

QO083: What is ideal level of Current Ratio?

(A) 2:1 (B) 3:1 (C) 1:2 (D) 1:3
QO83: FTHT 37Ul T e TR F4T 872
(A) 2:1 (B) 3:1 (C)1:2 (D) 1:3

QO084: The threshold limit of turnover for tax audit under section 44AB of Finance Act 2021 is:

(A) 5 Crores (B) 10 Crores (C) 25 Crores (D) 2 Crores
Q084: faar 3fafaTs 2021 & URT 44AB & dgd o 3iifde & foT eoiztay & A= §:
(A) 53 (B) 10 H3 (C) 25 Fs (D)2 :3

Q085: By which method we may charge latest cost of inventory?

(A) Standard price (B) LIFO (C) FIFO (D) Weighted average
Q085: A The faftr garT AT & FdIAdH AT 9Tel X Thd &7
(A) AT T (B) fermr (C) Hrer (D) s 3fteeT
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Q086: As per Indian Accounting Standard AS 115 which one of the following is not the criteria of the cost to fulfil a
contract?

(A) Sunk cost (B) Cost directly related to contract

(C) Cost expected to be recovered (D) Cost generate or enhance resources of entity

Q086: R oGl Aleish TTH 115 % AR Fo=faf@d & @ i A AT 3eeer & QT el HT A6 H Aleles
el &7

(A) 38 T (B) €IeY 37efeer @ HETAA SR

(C) o1 ageT gl T 3FHIg (D) SIS & HHTYA T 3cUIGeT AT JEfA AT
QO087: In cash flow statement which part of the activity is payment of income tax?

(A) Special (B) Operating (C) Financing (D) Investment
QO87: U3 vaTe faawer & aifafafer &1 #ia &1 REwr 3maaR #1 e 82

(A) fars (B) gR=rmeret (C) fa=gisroT (D) faer

QO088: An Accountant prepares a Bank Reconciliation statement. What is it called?

(A) Ledger account (B) Bank statement

(C) Memorandum statement (D) Journal ledger copy

Q088: Th IWHR Tk s FATYTA fJaR0T IR IRl &1 38 FIT Fgd 87

(A) S&r @Tar (B) s& faawor (C) J9eT faavor (D) STeTel oIk Shrdr

Q089: Which transaction may be known as source of cash inflow in operating activity?

(A) Cash withdrawal from Bank (B) Sales of marketable security for cash

(C) Cash deposit in Bank (D) Sales of goods at 20% higher than purchase
Q089: yRETelst afafafer A frd SeIesT &1 hdl TaE & FId & &I H AT ST Fehdl §7?

(A) d& & FTohe AT (B) TeheT & forT fauurer e gt & farshr
(C) do & FTAT e (D) @lig & 20% 318 W AT Fr &hr

Q090: In inventory management EOQ is termed as:

(A) Economic Order Quantity (B) Economic Output Query

(C) Earned Order Quantity (D) Essential Order Quantity

QO090: a&HET (3aid)) Tati # EOQ ! &gl Sifel &:

(A) 3 3meer AT (B) 3nfd& 3cutea @Fadr (C) 31T 3meer AT (D) 3mmaeTes 3MeRr ATAT

Q091: E-invoicing system was made applicable from 1st October 2020 for business with an annual aggregate
turnover of more than Rs. .
(A) 75 Crores (B) 500 Crores (C) 250 Crores (D) 100 Crores

Q091: $-|Tellel JUTSll &I 1 37eFga’k 2020 ¥ 37 cTIET & oI oe] fovam arm, fSietenl el aTfdieh hRIER
U ¥ 3’S gl
(A) 75 ™3 (B) 500 ¥13 (C) 250 F13 (D) 100 &3

Q092: A company incorporated under section 2(68) under The Companies Act 2013, is not restricted to raise
funding by:

(A) Private placement (B) Prospectus (C) Initial public offer (D) Rights or bonus issue
Q092: 9t 3ifafagd 2013 T &RT 2(68) & dgd WANAT Th Huet, [l @R u= S & fav gfa«ferd

G
(A) ursdE ToEHT (B) i
(C) 3R Fraefae T (D) TsTH T SiTH 39
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Q093: Under which schedule of Companies Act,2013 financial statement shall be prepared?

(A) Schedule Il (B) Schedule 111 (C) Schedule VI (D) Schedule |
Q093: uelr ifaferaa, 2013 &1 fhE T & dgd o faeaRor IR fhar s =nfge?
(A) 3 I (B) 3regege 1 (€) gt v (0) 31t |

Q094: Prime Plastics Co. is making a cost sheet. The accountant should consider the depreciation on plant and
machinery as part of which overhead?

(A) Part of distribution overhead (B) Part of administration overhead

(C) Part of factory overhead (D) Part of labour overhead

Q094: YISH Tolli¥ceh HUell Teh ST e §all @1 &, ol &l FIF AR AWM W AT Hl Hlead 3Naes &
RET & §T H ATAAT ATfgU?

(A) TR 3RS Fr BEar (B) wemafash 3aRgs & feear

(C) FREE & 3Naxgs &1 fFear (D) #1#7 3MtaRgs & fREar

QO095: In Companies Act,2013 Schedule Il , in which part general instructions for the preparation of Consolidated
Financial Statements is presented?
(A) Part 1l (B) Part Il (C) Part | (D) Part IV

QO95: Fueit fafere, 2013 e7gaT 11 3, FHfra faar faror o & & fov aeea der e amer & seqa
fpu v §?
(A) #Ter 11 (B) &7 111 (C) &1 | (D) #TeT IV

Q096: Under section 35 of Income Tax Act under profit and gains for business or profession for expenditure
incurred on scientific research for in house research, a deduction of an amount (excluding Land and Building)
equal to how much % shall be allowed?

(A) 50% (B) 200% (C) 150% (D) 100%

Q096: 3 &Y JfAfgH & 4RT 35 & e HAHT AT U & AT o1y HR HHCH & Tod Bef HJHUT & foU
T AU W hU 9T @ & AT fhda% & SRR TR (A 3R o7aeT &1 BIsa) A1 Fweldr & At
g1

(A) 50% (B) 200% (C) 150% (D) 100%

Q097: Under section 194, tax deduction at source for financial year 2021-22 on payment of any dividend is:

(A) 10% (B) 20% (C) 1% (D) 5%
Q097: &RT 194 & e, fordll oY emerier & sperdiet R faelr a¥ 2021-22 & fow @ld W &Y el &
(A) 10% (B) 20% (C) 1% (D) 5%

Q098: On direct collection by the bank, the customer has to place the entry in cash book as

(A) No entry needed (B) Debit (C) Credit (D) Debit and Credit
Q098: 9% gaRT WY HIE FNA W, Agh Pl Ushs T H gl JiAfsT S grn?

(A) TR ufafSe fr maegear &r (B) &

(C) & (D) fAerTeraT 3R AT AT
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Q099: As per IND AS 115, while estimating standalone selling price, internal factors are:
(A) Competitor prices of identical product

(B) Pricing practice for pricing on bundled products

(C) Effect of geographical area on pricing

(D) Effect of customisation on pricing

Q099: IND AS 115 & 3[R, FS37ellel TRl #Hed &I HThelel i THY, HdRP HRb &
(A) GAT 3cue & Fiaeaei #ea

(B) sz fhT 1T 3curel W Aew AuRor & fow Fqea WuRor s

(C) Hem fAuRor @ stenfers & &1 wera

(D) Fe TAEROT W 3efepelal T geTT

Q100: Every Company under The Companies Act,2013 shall constitute the Social Corporate Committee of the
Board, consisting of three or more directors and having net worth of:

(A) Rs. 250 Crores or more (B) Rs. 1000 Crores or more

(C) Rs. 100 Crores or more (D) Rs. 500 Crores or more

Q100: F9eAT AT, 2013 F Ted I HUell Pl S5 Sl ATHTTIh HARC TTATT Hl IS HLAT gRN HGH dleA
a1 e e g 3R ot ey Juf gl @rlew:

(A)%. 250 018 a1 A+ (B) %. 1000 &5 T 3T&H

(C)%. 100 &z T IMfAH (D). 500 a5 AT AR

Q101: As per Schedule Il of Companies Act 2013, under which part the profit and loss account should be

prepared?

(A) Part | (B) Part IV (C) Part 1l (D) Part i
Q101: uslr Jrfafezer 2013 &1 gy 11l & AR, o 3R gTfd TIar a7 & dgd IR foham ST =mige?
(A) #197 | (B) sTeT IV (C) smer 1l (D) &7 11

Q102: Overall Profitability Ratios are calculated on the basis of:

(A) Creditors (B) Sales (C) Investments (D) Debtors
Q102: THI SMEAVCAT AT Sl VG folesl & IR W AT S0 8
(A) deTeR (B) foshr (C) faaer (D) &eTeR

Q103: A company may call a general meeting by issuing a notice either in writing or through electronic mode
within:

(A) Not less than clear 11 days (B) Not less than clear 15 days

(C) Not less than clear 21 days (D) Not less than clear 7 days

Q103: T 9t fAf@d 7 # I goaelian AlS & AYA ¥ Teh AllcH TN Fleh Teh WA 33 Joll Hehcll o
(A) Tgse 11 &t & & ar (B) Tuse 15 feaAt & A gl

(C) e 21 et & %A &1 (D) s 7 fe&ait & A AL

Q104: Who prepares the Bank reconciliation statement?

(A) Customer's Accountant (B) Chartered Accountant
(C) Bank (D) Auditor

Q104: d& gAY fqavor Hid IR AT §?

(A) TEH F AWTHR (B) acs THISET

(C)d+ (D) or@r ar&rsh
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Q105: In Schedule Il for Financial Statements, which of the following doesn't appear in part II?

(A) Other income (B) Cost of material consumed
(C) Depreciation and amortisation expenses (D) Investments

Q105: faerar faaRott &1 3egee 111 &, fefaf@a & @ ala @ smer 1| & w787 3mar 82

(A) 3= 3T (B) SgercT @t T T

(C) Fegera 3R aReNus =a7 (D) faaer

Q106: What is the "reorder level" of a Company M/s XYZ Ltd. with consumption of 5000-7500 units in 1 week and
delivery period of order 8 to 14 days?

(A) 5000 units (B) 7500 units (C) 10000 units (D) 15000 units

Q106: 1 edlg & 5000-7500 $HSAT & @I 3R 8 & 14 &7 Fr ST Fr fBeadr 3@ & @y Foeh Fad
Trgarsas fafies & "feiEt TRt =

(A) 5000 s&TEaT (B) 7500 shrsar (C) 10000 gerrsaT (D) 15000 sersaT

Q107: The Income Tax Act, 1961 came into force with effect from .

(A) 1t April, 1961 (B) 1%t April, 1962 (C) 31t March, 1962 (D) 31 March, 1961
Q107: 3mae ifafaaa, 1961 g AL g3 AT?

(A) 1 31, 1961 (B) 1 31%eT, 1962 (C) 31 A, 1962 (D) 31 &, 1961
Q108: A project is known as high-risk project if on initial investment, variance of return is

(A) High, smaller (B) Small, higher (C) Small, smaller (D) High, higher

Q108: Ush IRIAISTAT &l Iod AN@HA dTell IRASTT & §F H S 11 § G _ IRAS A3 91, gfawer &
fereror gl

(A) 33, BYer (B) ©YeT, =T (C) BYer, ®ler (D) 3=, F=m

Q109: During the lease term payment by a lessee to lessor relating to right to use an underlying asset, which
payment is not comprised under lease payments?

(A) Lease incentives (B) Penalty for terminating lease

(C) Variable lease payments (D) Fixed payments

Q109: 9eeER @RI YeER &l Teh JHafelfed TREUR $T 3T dtel & HHR @ Hftq gee A 3afd & gora=
& GRIeT, AT $[ITclal YCeT ST & cgd AT el 87

(A) Teer WicdTg (B) Tcer HATC &al W AT

(C) uRE T ueer seraret (D) ATREre sgaretret

Q110: Under Goods and Service Tax Act, in case of excess ITC claimed or undisclosed output tax, interest on
delayed payment is recovered at which rate?

(A) 18% p.a. (B) 24% p.a. (C) 16% p.a. (D) 20% p.a.

Q110: AT 3R Far Y HRTATH & dga, IS ISELT grar A1 IRV 313eqe o & AAe H, [eifda sgerae
W SgS fhE & W ager fham ST §?

(A) 18% ari¥e (B) 24% arf¥es (C) 16% arf¥= (D) 20% arf¥=

Q111: In which case double entry system is not followed?

(A) Cash book (B) Trial balance

(C) Journal book (D) Bank reconciliation statement

Q111: fora ATAS # el 9fAfSe gumrelr &1 drelel =igr fohar Srar g?

(A) sTehg @TaT (B) gruel seld (C) =it g (D) §& FATYTT faavor
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Q112: Under Companies Act, 2013 share premium account cannot be utilised for the purpose:

(A) To redeem the preference shares (B) To buyback of shares

(C) To payback the loan amount (D) To issue bonus shares

Q112: wustr AfAfaTA, 2013 & dgd AT NATA TIT &1 39ART 38 36T & v A6 R 1 Fhar 8
(A) T8gar R F A F o (B) R Fr gereilie & faw

(C) oT TR a9y oot & fow (D) eTH MR IR A & T

Q113: Under Income Tax Act section 44AD income presumed to be 8% subject to assesse total turnover threshold
limit is below:

(A) 1.00 Crore (B) 1.50 Crores (C) 2.00 Crores (D) 5.00 Crores

Q113: 3RS HTATATH T GRT 44AD & e, AR 1 3T 8% TRAfedd HiI ST & 3PN FoT HRITR
AT & A g

(A) 1.00 &3 (B) 1.50 #:18 (C) 2.00 HE (D) 5.00 s

Q114: A lease which has no purchase option, is called short term lease with limitation of period having:

(A) Lease period of 1 year (B) Lease period of 6 months

(C) Lease period of 12 months or less (D) Lease period of less than 6 months

Ql14: t& ueer foas Fig Tl adheT g1 giar §, 39 39y & AT & TTY Feqadiiaed qeer Fgl odl &
(A) 139 &r oot 3@ & fow (B) 6 ALY T olieT 3@ & foIw

(C) 12 I T 3TH Fd T oilel AT & foIT (D) 6 AGIT & A HT oireT AT & faw

Q115: What is the deduction for premium paid for medical insurance for self, spouse and dependant children?

(A) Rs. 20,000 (B) Rs. 20000+Rs.15000  (C) Rs. 50,000 (D) Rs. 25,000
Q115: &%, 9fe a1 geett AR 30T st i Rfhear der & faw sprde 6o v ffdgs & faw sl a=r g2
(A) €. 20,000 (B) . 20000+%.15000 (C) %. 50,000 (D) %. 25,000

Q116: As per IND AS 115, while estimating standalone selling price, external factors are:

(A) Market share and position (B) Expected life of product

(C) Product differentiation (D) Pricing practices and policies
Q116: IND AS 115 & 3[R, TS37cllel TIshl o &l A SN HoL, gl R 8

(A) IR REaerT 3R ufa (B) 3cute T 39T SiaeT @rel
(C) 3cure; fafarséranor (D) e farefRor gamd 3R ahfaar

Q117: A company issued the shares at Rs. 150 each while the par value of share is Rs.100. Then the amount of Rs.
50 over and above Rs. 100 is on account of
(A) Market value (B) Premium (C) Share of profit (D) Dividend

Q117: T &YaAT & 150/- T9¢ G R W PR SR T Sfafer g7 R 1 FAAT 100 394 &1 dF 100 &0 &
FUX H 50 T HT RN & FROT gl

(A) ISR HoI (B) 3iferee (hifaa)
(C) =it =t feam (D) wrsver

Q118: Under Section 194 O, what is rate of TDS on e- commerce payments exceeding the threshold limit?

(A) 2% (B) 5% (C) 1.5% (D) 1%
Q118: URT 194 O & e, WAT ¥ HTAh S-HIAT Tl TR ATH T &7 4T §?
(A) 2% (B) 5% (C) 1.5% (D) 1%
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Q119: As per Finance Act 2020, the income tax payable by the super senior citizen on an income more than 10
Lacs for AY 2021-22 is:

(A) 30% (B) 10% (C) 20% (D) 25%

Q119: faa sfafaae 2020 % AR, g AR FésH garm @uRer a¥ 2021-22 & fav 10 9@ @ 31w 3ma
T T 3T §:

(A) 30% (B) 10% (C) 20% (D) 25%

Q120: Which item may not be considered as source of Finance activity in cash flow statement?

(A) Bank loan (B) Cash credit

(C) Debentures (D) Plant and machinery

Q120: #AF¢r varg Aaxer # forg #Ac & fog afafafr & a9 & § &7 A&7 AT T That 87

(A) dF =gor (B) sTshe, T1@ (C) FoT u=x (D) &IF 3R FA=

Q121: As per the old Companies Act 2013, minimum paid up Share Capital of a private limited company was

which was changed to in Companies Amendment Act, 2015.
(A)1lac, 5 lac (B) O, 5 lac (C)51ac, 1 lac (D)1lac, 0
Q121: Wt =T AT 2013 F AR, Tk Frsde fAffes duall f ~gaAda Jeed AR Golt CIRE]
FUer MY FAAIA, 2015 F # seor fear I
(A) 1emg, 5 or@ (B) 0, 5 er@ (C) 5omg, 1 @ (D) 1amH, 0

Q122: What is standard deduction under Finance Act 20207

(A) Rs. 40,000 (B) Rs. 50,000 (C) Rs. 60,000 (D) Rs. 100,000
Q122: fag yf&fFTd 2020 % dga As Heldr #ar §?
(A) %. 40,000 (B) &. 50,000 (C) . 60,000 (D) . 100,000

Q123: As per schedule Il Financial Statements in balance sheet, which of the following is not considered as
current assets?

(A) Inventories (B) Long term loans and advances

(C) Trade receivables (D) Current investments

Q123: dele efie & g |l e fevolt & e, efaf@d & & 68 e #uftr & &9 & 76 AT S g?
(A) a&q = (B) oelr 3afer & HoT AR ATH

(C) eamr wrfeaar (D) ac#TeT feraer

Q124: Which of the following is not a part of the prime cost?

(A) Direct cost (B) Direct labour (C) Variable overhead (D) Direct expenses
Q124: fFfei@d & @ a7 7 AT o1 REar 78 g2
(A) JcTeT dreTd (B) ucTeT s (C) T 3Naxgs (D) wcTeT =g

Q125: A private company may invite or accept deposits from which persons?

(A) Bank (B) Members (C) Partners (D) Directors
Q125: T foAsh &uelr fohed cafaFaal & AT AHEAT AT TEHR I Thal &7
(A) ¥ (B) Texg (C) srfier (D) faigersm
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Q126: How many heads of income are considered under Income Tax Act?

(A) Four (B) Six (C) Two (D) Five
Q126: 3R ATATATH & dgd AT & fhdsl A A I 872
(A) T (B) B& (C)ar (D) gr=r

Q127: Indian Accounting Standard (AS 115) applies to which of the following?

(A) Lease Contracts (B) Contracts with Customers

(C) Contractual rights (D) Insurance Contracts

Q127: AR oI@l Alelsh (Vod 115) ReAfaf@d # @ g @ o) giar 8?2

(A) Teer 3efaer (B) IMEehT & ATY 3fefetr (C) afdercas AFR (D) #AT 3eTaer

Q128: As per Income Tax Act, special tax rate applicable to a domestic company under assessment year 2021-22,
when opted for section 115 BA, is:

(A) 25% (B) 15% (C) 20% (D) 18%

Q128: 3Tt HATRTA F AR, AUROT a¥ 2021-22 & T T B HUAT W o], 519 GRT 115 6T & faw
oA S &, faR # X B

(A) 25% (B) 15% (C) 20% (D) 18%

Q129: Director's duties, qualifications, powers, rights and remuneration are clearly discussed in

(A) Memorandum of Association (B) Articles of Association

(C) By Laws of Company (D) Prospectus

Q129: fAeers & Saear, e, AfFadt, 3Rt 3R ok w® H TS &G F AT Y T8 B
(A) AAREH 3% Tafaeerd (B) 3nfEhen 3w waIf@we=

(C) =l & Tefet g@rT (D) =

Q130: What is maximum rebate allowable under section 87 A of Income Tax Act?

(A) Rs. 10,000 (B) Rs.12,500 (C) Rs. 20,000 (D) Rs. 7,500
Q130: 3 3fRAfATa i arT 87 T & dgd EeR HSHIA T HT §?
(A)%. 10,000 (B) %. 12,500 (C) &. 20,000 (D) %. 7,500

Q131: What is the threshold limit of deduction in respect of interest on deposits under section 80 TTB?

(A) Rs. 40,000 (B) Rs. 25,000 (C) Rs. 20,000 (D) Rs. 50,000
Q131: 9RT 80 EEST & Tdgd FTHT W Tl & T H Feldr sy dAT Far &2
(A) &. 40,000 (B) . 25,000 (C) %. 20,000 (D) %. 50,000

Q132: In a company how many minimum number of board meetings are required to be held every year?

(A) 4 Meetings (B) 3 Meetings (C) 6 Meetings (D) 5 Meetings
Q132: Ush &l # YA a¥ fhdell sgoAdd 1S doeh AT el I Haeghdr g &2
(A) 4 S (B) 3 d&h (C) 6 d&h (D) 5 &k

Q133: The company declare and pay dividend under which section of the Companies Act, 2013:

(A) Section 121 (B) Section 123 (C) Section 124 (D) Section 122
Q133: Fust fafaas, 2013 61 fFH a1 & TEd HUAT o TRNT F & 3R TR I Hh &
(A) &RT 121 (B) &RT 123 (C) &RT 124 (D) &RT 122
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Q134: Under Goods and service Tax act, under composition scheme, which return is to be filed?

(A) GSTR-6 (B) GSTR-9 (C) GSTR-5 (D) GSTR-4
Q134: 9% Td Far F HRAAGH & dgd AN EhA & Tod Hisd a7 Reot aif@er e ghar g2
(A) STaéB3mR-6 (B) SIUEEI3MR-9 (C) STTELI3R-5 (D) STTadI3m-4

Q135: M/s A B C & Co. receives a statement of its account from a Bank ledger. What is it called?

(A) Ledger copy (B) Balance statement (C) Bank statement (D) Deposit statement
Q135: A9Y T & I U3 HUT A U dh T 967 T 3o Wi T [Ga0T 9red g §1 38 FIT Fhgd g2
(A) SR HTdr (B) steier faaxor (C) d faaor (D) st#T faawor

Q136: If a firm's business income in the financial year 2020-21 is 1.25 crores, the income tax rate as per Income
Tax Act is:

(A) 30%+12% surcharge on such tax (B) 25% + 7% surcharge on such tax

(C) 30% (D) 25%

Q136: Ifg &g a¥ 2020-21 # T ol HiT s@aTR—AS I 1.25 F35 8, AT ¥R ATATAIH & 3HTaR 3T
X

(A) 30%+12% ¢Fa WX AT (B) 25% + 7% ¢FE W TS

(C) 30% (D) 25%

Q137: Under Goods and service Tax act, the GSTR 9 return is to be filed:

(A) Annually (B) Monthly (C) Quarterly (D) Half yearly
Q137: Ater AR a1 W 3ffATA & dgd, GSTR 9 Reat arf@a & g &
(A) arf¥s (B) AT A= (C) 3mfa® (D) 3¢t

Q138: Cash book, as per books of accounts and bank statement, present:

(A) Favourable Balance (B) Opposite Balance

(C) Credit Balance (D) Debit Balance

Q138: Uehs &ET, Wil S JEh AR doh daR0T & 3TAR, 92T Ll

(A) 3tToher S| (B) 3iifaie selw (C) st Tfr (D) Y =HoT

Q139: Under Section 165 of The Companies Act,2013, threshold limit of directorship in public limited companies
is:

(A) 20 (B) 7 (C) 10 (D) 25
Q139: Fu=r fafATs, 2013 Fr aRT 165 & dgd, Tfeels fafdes Fufaal & Aeers g Hir @ §:
(A) 20 (B) 7 (C) 10 (D) 25

Q140: What is the EOQ, if order placing cost is Rs. 18 per order, carrying cost is 20% and annual consumption is
75000 unit?

(A) 300 units (B) 3000 units (C) 30000 units (D) 15000 units
Q140: $3Nery AT &, TG ST &t T oered €. 18 Uiy 3T, & STt & @I 20% 3R arf¥er @oud 75000 Ffae g2
(A) 300 sr3aT (B) 3000 sepr3ar (C) 30000 sehr3aT (D) 15000 sehr3am
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Q141: Which of the following is not a factor or part of cost sheet?

(A) Selling Cost (B) Factory Cost (C) Prime Cost (D) Goodwill
Q141: fe=ifaf@a & & a1 aeTd 9 #7 FEA AT Toh SR 6l 67
(A) farshr efmare (B) Seredl wmerel (C) el oImT (D) &r™

Q142: Which is not an objective of the GST Act?

(A) Decrease the taxpayer base (B) Elimination of cascading of tax

(C) To curb tax evasion (D) Subsume maijority of indirect taxes

Q142: F1 Svadr fAfAaa &1 36827 A7 &7

(A) HIGTAT HTYR GCT=AT (B) X & HEHST hl Ieele

(C) &g o 1 ApeTr (D) 31TOeRTr 3T9cTeT R Y Th JaT & 3idld Pl

Q143: Which factor is not part of cost accounting?

(A) Profit sharing (B) Product Costing (C) Planning (D) Controlling
Q143: i T HRE ARTT W T FEAT FAdl §°?
(A) @ITeT HTSIERT (B) 3cute @RI (C) TrsteT (D) Sexfarer

Q144: The report of audit of accounts to be furnished under section 44AB in case of a person who carries on
business or profession and who is required by or under any law to get his account audited in .
(A) Form 3 CC (B) Form 3 CE (C) Form 3 CB (D) Form 3 CA

Q144: fordll 0 TfFd & A H ST cqadT A1 92 & & 3R 5, el el garT a1 38s dgd, 39 @i
F1 33T AT ITEAIH &, URT 44AB & g TE (T SIel arel @l 1 or@r aliem & Rare 7 g
EURY

(A) wreT 3 TrEY (B) wisy 3 HIS (C) wia¥ 3 Iy (D) B 3 HT

Q145: On which expenses/costs, management is likely to have least control?

(A) Machines break down expenses (B) Advertisement and campaign expenses
(C) Assets Insurance expense (D) Labour and wages expenses

Q145: foret @TT/ATITAT W TGUA HT FH T HHA HAII0T glel T FHGAT §?

(A) TMT & TS gl W (B) eyt 3R 3ifdaer @

(C) Tufar AT s (D) ## 3R Foredr wd

Q146: Who signs the articles of association?

(A) Subscribers of memorandum (B) Registrar of companies
(C) Nominee director (D) All the directors

Q146: 3fHed 3 THATAUAT W i FEABR FAT 87

(A) 9T & gEATERhAT (B) ISR 3% Sueirel
(C) AR fgers (D) e faceren

Q147: Which type of loss may not impact the cost of inventories?

(A) Normal loss (B) Theft loss (C) Abnormal loss (D) Seasonal loss
Q147: hE TR &I glfel a&d-Eel I SAETIT I HaTac FeTfaeT g el &2
(A) ETHTT T (B) TR T JehdreT (C) 3rEHT Thare (D) Ht\elr sgehare
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Q148: As per Income Tax Act, for LTCG cost inflation index for the financial year 2020-21 is:

(A) 299 (B) 300 (C) 302 (D) 301
Q148: 3mgY JfAfaad & HqaR, fad a¥ 2020-21 % fov e aed Heehifa gose ¢
(A) 299 (B) 300 (C) 302 (D) 301

Q149: In Baba & Co. cash book overdraft is appearing by Rs. 17500, cheque issued and not cleared of Rs. 25000,
the accountant has deposited cheque of Rs. 49500, bank has charged Rs. 1500 as bank charges, what should be
balance in Cash Book?

(A) Rs. 5,500 debit (B) Rs. 7,000 debit (C) Rs. 8,500 credit (D) Rs. 42,500 credit

Q149: 91T Us &ualt & 17,500/- T98 1 &er g Hawgioe R@m$ & W@ 81 25,000/- T9F & Ak SR far arm
fohq sperarer w81 fomam aram| @R A 49,500/- F9A HT A SAT A 1 A6 A 1,500/ T 1 dF Yoh AT B
$Y g A AW RN 41 gl wfge?

(A) %. 5,500 3fac (B) . 7,000 3fd

(C) %. 8,500 s (D) %. 42,500 %fsc

Q150: Currents assets are the assets whose expected realization period is :

(A) 3 months (B) 1 year (C) 2 years (D) 6 months
Q150: =Te] IRAYTAT I aREafTAT § oot 3mfara age afy g
(A) 3 g (B) 1a¥ (C)2ay (D) 6 ALY
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INSTRUCTIONS, Continues from the front page (e, 7gat g5 & aHY)

10.

11.

12.

13.

This QP Booklet contains 150 questions. Each question has four options. You should select one of the options and
mark corresponding circle on the OMR Answer Sheet. In case you feel that there is more than one correct option,

mark the option which you consider the best. In any case, mark ONLY ONE option for each question. S8 9T
qicerr # 150 9T 81 Fcdsh 9ReT & OR fadhed §1 3denl fohdll Toh fdehed &1 @&l & @1fgr 3R OMR
I TFh W ST el T AT Heem TfeV] Ffe 3muept oferar & o v @ 31t @@l Asveq 8, Y 3@
e &1 RETd X S0 39 qa@ 39gFT AT &1 el off Ul #, 5 9 & AT Faa v fadhed
& RfEgaa |

In case more than one response is marked for a single question on the OMR sheet, it would always be taken as
wrong answer and negative marks would be awarded for that question. If¢ OMR 3T 936 WX TH WA & folT
TH T 38 IR & Rfced Far Sar § O 59 g/ Ied 3R F & & foar sreem 3R 39 v & v
ARRIcHS 37 feu Sreer|

You have to mark all your answers on the OMR Answer Sheet ONLY. Carefully read the complete instructions on
the OMR Answer Sheet. 3Tqeh! 39a7 e 3WX AT 1T OMR 3R U9 W & 3ifhd HA &1 OMR 3T UF&h
X e av el & e ¥ ud|

After you have completed filling in all your responses on the OMR Answer Sheet or the Examination has concluded,
you should hand over only the OMR Answer Sheet to the Invigilator. You are permitted to take away the Question

Paper Booklet and carbon copy of OMR. OMR 3R deh UX 3Ua FHT ITRT I A & &l 31T AT FATCA
gl Sl & e, 3MUh! hael OMR TR Uoeh YAdeTeh I HIGAT &1 INThT YA I ¥R TUT OMR 3R I
T Il AT I A WY o ST I AT &

Remember to completely fill the appropriate circle on the OMR Answer Sheet. Do not use HB pencil or Gel Ball Pen.

Only transparent body ball point pen (blue or black) must be used for marking responses. A half-filled circle would
not be evaluated. Erasing or changing of answer is not allowed. Only the answers filled in OMR Answer Sheet would

be evaluated. OMR 3t 9¥eh W 3 et T g ag ¥ o1 HB UfAe AT Jor dier O 7 GAWT o HY|
Mal A AFAd e & AT Fad aRgeft a1 e gige 97 (AT I FraT) FT 39T FAT =T AR
3T o ANl T Hedichel AgI fhaT ST 3R &I A AT Jeo=t T AT 76T g1 Shael OMR 3R TIh
H 8 9T IR 1 & Hodichel foham STwaT|

Candidates are not allowed to leave the examination hall before completion of three hour duration of the exam.

qQetl & il 6 T 3af g gl @ Ugd 3FHIGART F qdeT gl oisa &I Al 7L g

Every question, except those belonging to English/Hindi language are provided in both English and Hindi languages. In

case of any conflict in translation/difference in answers, only the English version would be considered valid. 3AS/EET
HIYT & T Tl hl BIghy Todsh e s 3R RS alet enwisit # 3ucretr T 910 §| 37efare &
P ypR & Qare/3RT & Aadc fr AT & Fao 39 GE&0T & AT g1em|

Do not fold/tear/crumple the OMR Answer sheet. OMR 3t T& HI AS/FE/ANT AEHI
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